
1. Consider the infinitely long 

chain of resistors shown in the 

figure. What is the resistance 

between terminals a and b?  

 

2. Consider the circuit below. The 

capacitor has a capacitance of 10 mF. 

The switch is closed and after a long time 

the capacitor is fully charged. (a) What is 

the current through each resistor a long 

time after the switch is closed? (b) What 

is the voltage across each resistor a long 

time after the switch is closed? (c) What 

is the voltage across the capacitor a long 

time after the switch is closed? (d) What 

is the charge on the capacitor a long time 

after the switch is closed? (e) The switch 

is then opened. The capacitor discharges 

through the resistors. How long from the 

time before the current drops to one fifth of the initial value?  
3.  

 
 

I have done this one in class. Repeat with new field:  B = - B_0 j_vec + (B_0)/2  k_vec 

 

 

 

 



4. 

 
 

 


